80470 %
80437 —

tvilum

00000



O
3-5hr x2

2/24 80470-50



4
=
)
&
&)
7

0110901 x1 0110840 0116202 x2 0120203 x12
30.87x0.02" 30.49/20.31x0.28" 2.05x2.0“ J2.36/0.98" @0.2x1.18"
@22x0,5 mm @12,5/@8x7 mm 52x52 mm @60x/25 mm @5x30 mm

0120209 x18 0120228 x12 0121804 x8 0122601 x1 0125233 x20
20.31x1.18" 30.25x1.57" 30.39/0.24x0.24" @0.14x0.59"
@8x30 mm 36,3x40 mm 310/00.24x0.24 mm Glue 159 @3,5x15 mm

0125244 x8 0125447 x12 0126020 x12 0126060 x8 0126214 x6

"\"\"\T‘\"\"\ \\\
wﬁ"\ )
@0.14x1.38" @0.16x0.79" 30.23x0.35" 30.25x0.59" M4x0.35"
@3,5x35 mm @4x20 mm @5,8x9 mm 26,3x15 mm M4x9 mm
0126230 x6 0131513 x18 0131572 x4 0131687 x22 0141421 X6

M8x3.15/M6x0.91/&0.79"
M8x80/M6x23/@20 mm

@2.13x0.91/1.34"

8.86x0.35x1.1"

@54x23/34 mm

225x9x28 mm

3/24

M4x0.87" 30.30x1.73/1.34" 20.28x1.61/1.34" 20.59x0.37" 0.67x11.02/17.72"
M4x22 mm @7,5x44/34 mm @7x41/34 mm @15x9,5 mm 17x280/450 mm
0162413 0166203 x4 | 0181102 x3

80470







BOX 1/2

o o) o}
| U Si
o ° o) o}
@)
482x491x25mm 431x486x15mm 431x484x15mm
ED x3 . G x2
427x157x15mm
615x240x15mm
00721 x3 °
450x120x12,2mm
© 00722x3  _

|3

450x120x12,2mm

03405 x3

398x120x12,2mm

o o o 0

769x587x25mm

5/24 80470



BOX 2/2

1590x820x25mm
o
(e} o
K
o}
1327x300x15mm
06307 x3
409x448x2,5mm
o} o o) o
FG HF
o} o o) o
672x490x25mm 672x490x25mm

6/24

80470



0141421 x3 [ 0125233 X6 | 0126020 x6 @ .

D

0.67x11.02/17.72" ©0.14x0.59" 20.23x0.35"
17x280/450 mm @3,5x15 mm @5,8x9 mm

3]

=
S
/)
)
&)

\V4

I

I

I

7124 80470



0120209 x4

<

©0.31x1.18"
@8x30 mm

0131513 x2

@0.30x1.73/1.34"
@7,5x44/34 mm

&

8/24

80470



0141421 x3 [ 0125233 X6 | 0126020 x6 @ .

0.67x11.02/17.72" ©0.14x0.59" 20.23x0.35"
17x280/450 mm @3,5x15 mm @5,8x9 mm

0126020
&

2]

9/24 80470



0120209 x4

5 -

©0.31x1.18"
@8x30 mm

@0.30x1.73/1.34"
@7,5x44/34 mm

10/24 80470



0120209 x10

<

©0.31x1.18"
@8x30 mm

0131513 x8

@0.30x1.73/1.34"
@7,5x44/34 mm

111724 80470



12/24 80470



0131687

131724

80470






0131513 x6

@0.30x1.73/1.34"
@7,5x44/34 mm

14

0120203 x12

P

@0.2x1.18"
@5x30 mm

00721 x3

151724

80470



00722

00721

16

16/24

UL

x3

80470



0120228

@0.25x1.57"
@6,3x40 mm

0126230

M4x0.87"
M4x22 mm

x6

0181102 X3

8.86x0.35x1.1"
225x9x28 mm

on_

N

17124




181724 80470



M8x3.15/M6x0.91/20.79"
M8x80/M6x23/@20 mm

0162413 x1 [0122601 x1

Glue 159

0125244 X8

@0.28x1.61/1.34"
D7x41/34 mm

@0.14x1.38"
23,5x35 mm

0121804 x8

20.39/@80.24x0.24"
210/20.24x0.24 mm

191724

80470



0131687 x4

x6

23 |55° | 40

@0.16x0.79"
@4x20 mm

20/ 24 80470



24

0125447 x6

N\

xw

©0.16x0.79"
@4x20 mm

25

0110840 x8

&)

20.49/20.31x0.28"
@12,5/@8x7 mm

0110901

&~/

20.87x0.02"
@22x0,5 mm

x4

21/24

80470



26 )

...........
mmmmmmmm

22124 80470



00000



™ 8
N %
W E! )

Wood | Supporting -"

responsible forestry \Q —2}!

FSC -
FSC™ C021084 |  —° et

www.fsc.org

o o B8 . S

donner ou recycler. - - N
Association Magasin Déchéterie

https://quefairedemesdechets.fr

80470

© TVILUM A/S 2018

24124



